hindi hiiseyni — devr-i revan
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H1 b is headed serfidne, not ve leh, suggesting therefore that Hl a might be a false start, and that H1
consists only of H1 b. But as HY a 2 docs not occur in HI b it is not possible 1o regard H1 a as a
mistakenly truncated first attempt at notating H1, and we may conclude that the second serfidne is a

simple case of ditlography.
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The phenomenon of a missing half cycle appears again here in both H1 b and H2 ¢. The ares common,.
to both consists of three full cycles, so that separate emendations would be required in the earlics part
of cach in order to round up the total. Failing an unmarked rest of half a cycle it therefore scems
logical 1o accept again that the seconda volta begins on time unil 8, and these two sections have
conscquently been divided into half cycles.

A differcnt approach to the distribution of matcrial here would be to take the hindi of the heading not
as a variant of hindiler, but as an adjective qualifying the rhythmic cycle. Devr-i revan-{ hindi might
then be considered a prototype of devr-i hindi, a 7 time unil cycle in terms of which the half cycle
problem would disappear. Employing the standard percussion pattcrn of devr-i hindi H1 a would
become:

However ncat, this solution should be rcjected: devr-i hindi is not onc of the cycles recognized by
Canternir, nor does it Form pant of the expanded list recorded by Fonton half a century later,



